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1. The box has a weight of 10 kN. Determine the force in each
supporting cable.
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2. Adistributed loading of @ = 210x N/m acts over the top surface of the
beam shown in Fig.2. Determine the magnitude and location of the
equivalent resultant force.
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3. Determine the force in member EB of the roof truss shown in Fig.3.

Indicate whether the member is in tension or compression.
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4. Draw the shear and moment diagrams for the cantilever beam in Fig.4
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5. The uniform 15-kg ladder in Fig.5 rests against the smooth wall at B,
and the end A rests on the rough horizontal plane for which the
coefficient of static friction is pus = 0.4 . Determine the angle of
inclination O of the ladder and the normal reaction at B if the ladder is
on the verge of slipping.
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